Efficiency vs P,

F 0.2
o
€0.18
>
20.16
@
(&)
20.14
[J]
0.12
0.1
0.08
0.06
0.04
0.02

1.0

Ratio

= o B - R L

[y
TTTT] T T
+
"

1
4

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_TT _original_time2
—e— DQM_TT_modified_time2
—— DQM_TT_modifiedINIT_time2

= 0.2

0.95

o F : : : :
S0 18 A p
g - . . . . .
GRS S A o
s F : : : : :
EO0. 14wt deeeees R P
o E : : : : :
S ARt SIS f K S
S I
O e | R L | ARSI
Y SRS SN 4 AR | S S
T 11 1 S
Y S 1 3 S
Quouuuuu
s I : E E ' '
o L | H
| L RRLLEED BB G AR St SRR
3 -2 -1 0 1 2 3

Efficiency vs ¢

s 0.
g
20.09
2
_90.08
(8]
£0.07
[J]
0.06]
0.05
0.04
0.03]
0.02
0.01

T I

1.0

Ratio

T U - P P e T

0.95

(Nenravsrsn:

|

C

|

N

|

[N

o) T
=

N

W)



	Contents
	Page 1


